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O ICM - Basic Trigonometry Review

Find the value of each variable. Write your answer in sumplest radical form
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Use the Law of Sines and Law of Cosines to find missing d;menSIO,HTM = 2o
7. Find the missing dimensions of the triangle 8. Find the m£C to the n&:/zu:es

below. Round your answers to the nearest..
whole number.
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9. Find the missing dimensions of the triangfe  10.Find the /to the nearest whole number
below. Round your answers to the nearest o’ U
whole number.
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Draw a diagram an .[;-'frig'as.' a propriate (right triangle trig, law of sines, o Sﬂ\ ' 1073 s@

l .
Show work! r law of cosines) to

11. Flying at an altitude of 9 kilometers, an airplane starts to descend when its :
field is 175 kilometers. ground distance fro

= : the landi
b the nearesf fenth, what is the angle of depression for this portion oF the Ifllligheto1 anding

 dne=a - [Beoaye

INFY, = X
. B\ W% = .22 9

12. A person standing 30 ft from a flagpole can see the to
. p of the pole at a 35° angle of elevati ’
eye level is 5 ft from the ground. Find the height of the flagpole to the nearest foo%. veren. Xhe persan’s
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% Carol is in the Skydeck of'tl k
e from the tower, Hpe . g]eslsfsde:rs quer overlooking Lake Michigan. She sights two sailboats going due
high, how far o i Pression to the two boats are 42° and 29°. If the Skydeck is 1335 feet

Ton B2 21357 fon2=135
et |
) %o Y62, 01

Seagu R-the P are 100m and 80m respectively. If the angle
Y(\ » how far would one seagull have to walk to meet the other seagull?
>

P ¥ -0, 1 X2 (00 €D -2 40 ( fes Ysse:

15, Tue SO XS B
- 1Wo trains leave from the gg oIt and travel along straight tracks that differ in direction by 65°.

If their speeds are 100mph and 80mph respectively, approximate how far apart they will be after 30

minutes.
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= 14
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14. The distances fréﬁ’-u a boat tg
between the two lirges of sight is 550

X408,

Find each exact value. X
‘ 16. cc;u;3—'th E 17. tanl_li ,—%
| Yoo bld %
18. cscm < UM&I‘{'}CQ{ 19. cor -135° = CO°
DI
i LT ) 21, see| 2% L .,_J_:\'—’%::._,
A ) s et - e
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22. Find all values of x, 0° < 6 < 360°, that satisfy the eq.uation 2cqsx\ =_%: (}. ( p
(8] = : "
a1 (o' | =
(V) =

23. Find all values of x, 0° < 8 < 360°, that satisfy the equation tanx — V3=0.

dony = I3 W s l -
tan™ & = [o0* JZHO
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